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20149 5 S0la LB H 23t0=u
2H: 230
g 59 S3l=2 2R L&
©el: NgesEg (29 a8)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Z3t0l= 36,449,478 19,787,036 16,662,442
= 2,140,050
& 14,521,000
J| 2,456,000
& 208,000
=) 17,124,428
S 230z=2 I3¥H 235 35,963,818 19,181,676 16,782,142
= 2,140,050
& 14,521,000
J| 2,456,000
&2 208,000
< 16,638,768
N 2st&EY 3,215,800 911,200 2,304,600
& 2,288,000
< 927,800
Ng=2s3 AHSESKE 2,370,750 402,250 1,968,500
= 2,036,000
< 334,750
307 gl2tol & 10,000 10,000 0
02 QIZtFAE XS 10,000 10,000 0
OS2}FANRHIAE W= 10,000
308 XXM SOl A 292,250 342,250 A 50,000
01 IXNHHBNEES 292,250 342,250 250,000
OXNL=ZatAMNT2SXE 165,000
OS2 A A 50,000
OXNY 2SS EUSLIAIS XA 47,250
OXg =23t sotel Mg X3 30,000
403 MHXSHHSA=0l& 2,068,500 50,000 2,018,500
= 2,036,000
< 32,500
01 XM A2E X 2,068,500 50,000 2,018,500
O=dz3td HE 1,536,000
& 1,536,000
Otet2sta 0ld A8 500,000
& 500,000
OLHHFLIEH A 12,500
OHA2sE JIsE23AMY 20,000
== 29 345,050 358,950 A 13,900
= 252,000
< 93,050
201 Let24dH] 13,000 22,000 A 9,000
01 At 22/l 13,000 12,000 1,000
OX0tit= E3tes Ho2dY 7,000
OZMIZAEE 29 6,000




2H: 230
HE: 29 200 ZIMY 23
el ANY2Ssae (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
203 R =&t 40,050 38,950 1,100
03 AIBF=XH S =ZH| 40,050 38,950 1,100
O2ti=dsge=a 23,750
OS2li=2ZMNSLRF 12,500
O=2stsgd = 3,800
308 XXIEHHSOIA 292,000 200,000 92,000
2 252,000
< 40,000
01 AXHHILEES 292,000 200,000 92,000
OFZXNYAMY(BEMA = 20LDI) 252,000
& 252,000
OOt ENZTL2LALE XA 30,000
OAMSASS S ACHTH 10,000
S22 ME2S 500,000 0 500,000
306 93 500,000 0 500,000
01 &= 500,000 0 500,000
OsHEaMy 29 500,000
Agos 92 Mo 12,362,606 12,331,689 30,917
= 1,077,450
2 200,000
J| 2,456,000
& 208,000
< 8,421,156
=4 Z0F =2 At X3 AHY 748,900 832,100 A 83,200
= 374,450
< 374,450
307 gl2tol & 748,900 832,100 A 83,200
= 374,450
< 374,450
02 ABNEES 748,900 832,100 83,200
O=ot=0F WAA XS 748,900
= 374,450
< 374,450
SEMEBE ALY 104,000 104,000 0
J| 52,000
< 52,000
307 21201 A 104,000 104,000 0
J| 52,000
< 52,000
02 2IFAEXS 104,000 104,000 0
OAHEIZ At 104,000
Jl| 52,000
< 52,000
st =0 ==HE Ot 68,000 68,000 0




fAM: 230z
M =Y F0=2 FHH 25
el Agols 92 M (&)
SA - BB B () - MM - BES Ol &t o San HmEET
= 8,000
< 60,000
308 XXM SO A 68,000 68,000 0
= 8,000
< 60,000
01 IXNSHHBANEES 68,000 68,000 0
OMb558 SF=22B0==H &It 50,000
= 5,000
< 45,000
OHM218 8=FAdE 0= 18,000
= 3,000
< 15,000
ANE2sttz=nsdEHAMS 300,000 300,000 0
= 150,000
< 150,000
307 glz2tol & 300,000 300,000 0
= 150,000
= 150,000
02 QItFAE XS 300,000 300,000 0
OZEIstznsiNAdH XA 300,000
= 150,000
< 150,000
=20 = E MY 248,000 30,000 218,000
201 et 18,000 0 18,000
01 At 22l 18,000 0 18,000
OSEZE H=E 01228 &Y<Ids 29 12,000
O&U 0l=3 =2l 6,000
308 XXM SOIA 230,000 30,000 200,000
01 IXNSHHBANEES 230,000 30,000 200,000
OS==Hol=H 30,000
O=%9 g g2ed 200,000
MBI E3HH =S A 245,000 245,000 0
= 245,000
308 XXM SO0 A 245,000 245,000 0
= 245,000
01 HIXNHHBNEES 245,000 245,000 0
OAg 23tz (XS SHSH) 245,000
= 245,000
sZA0i=H Ay 200,000 100,000 100,000
= 200,000
308 XtXIEHH SOl A 200,000 100,000 100,000
& 200,000
01 AXHHILEES 200,000 100,000 100,000




2H: 230
g 59 S3l=2 2R L&
el Agols 92 M (Sl & &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O322Xd0l=dldgel 200,000
= 200,000
AG2st=2sid 827,000 447,000 380,000
= 300,000
= 527,000
307 21201 A 359,000 429,000 A70,000
04 BItHAIE RS 359,000 329,000 30,000
OXNZzstol=gskA 329,000
O0tItE oelol |RXZE 30,000
308 XXIEHHSOIA 468,000 18,000 450,000
= 300,000
< 168,000
01 AXHHIYEES 468,000 18,000 450,000
OA2QXY AMEsKA 18,000
02014 St8&E ESREMHE 450,000
= 300,000
< 150,000
HOtIl= 2stEsAtY 270,400 270,400 0
& 208,000
< 62,400
308 XXM SOl A 270,400 270,400 0
& 208,000
< 62,400
01 IXNHHBNEES 270,400 270,400 0
Oxobt=2st s 270,400
=2 208,000
< 62,400
Sz 23 5,719,106 5,719,106 0
308 MXIEHMSOIH 5,719,106 5,719,106 0
01 X HHILEES 5,719,106 5,719,106 0
Osg=a2sdd 29 1,529,577
Osgungsd-t 249 2,586,529
Osg=ad 24 1,164,805
OsHoEIAY 29 329,235
O3gu=sg =Xl 108,900
NS 20l =AM 410,500 223,000 187,500
201 Let24d] 150,000 0 150,000
03 AH2 I 150,000 0 150,000
O=Ue RE0=t 2032 A 150,000
308 XX EHSOIA 260,500 223,000 37,500
01 HIXNHHBNEES 260,500 223,000 37,500
OR=El =20 =H 3,000




2N

X{ XH -
S =

SR (29l & 2)
SA - BB B () - MM - BES Ol &t o San HmEET
OXEZstol= At XI& 257,500
NE2stt=EdEs A& 114,000 174,000 260,000
308 XX EHH SOl A 114,000 174,000 260,000
01 AXHHILEES 114,000 174,000 260,000
O3 &ds5& ohael H& - YOUs 60,000
OFANZ2HZESUHE 54,000
ANEEAFAY 1,086,500 770,000 316,500
J| 652,000
< 434,500
201 LBt | 31,500 10,000 21,500
J| 15,000
< 16,500
01 At 22l 31,500 10,000 21,500
O=JIZSH=XJANAE AIEZ 16,500
OXNSEHE I2AY A=Y 15,000
J| 15,000
207 A RO H| 60,000 60,000 0
J| 60,000
01 289 60,000 60,000 0
OXdEdE AY ZHINZLIHEY) 60,000
J| 60,000
307 21201 A 995,000 700,000 295,000
J| 577,000
< 418,000
02 B AEXS 995,000 700,000 295,000
OXNSZsHE=ELSAS 448,000
Jl 194,000
= 254,000
O3gFa=cY X 547,000
J| 383,000
< 164,000
Z ot ™ ALY 1,861,200 1,685,083 176,117
J| 1,692,000
< 169,200
307 21201 A 210,450 152,783 57,667
J| 41,250
< 169,200
02 B AEXRS 210,450 152,783 57,667
O=zstolsd JIegAmy XA 210,450
J| 41,250
< 169,200
308 AHAIEHHSOIA 1,650,750 1,532,300 118,450
J| 1,650,750
01 HIXNHHNBMNEELS 1,650,750 1,532,300 118,450




fAM: 230z
M =Y F0=2 FHH 25
el Agols 92 M (&)
SA - BB B () - MM - BES Ol &t o San HmEET
O=zsols8d tEAMY XA 1,650,750
J| 1,650,750
St Lel0tg X ALY 60,000 80,000 220,000
J| 60,000
308 XX EHHSOIA 60,000 80,000 220,000
J| 60,000
01 AXHHILEES 60,000 80,000 A 20,000
OReite 22/0tY XA 60,000
J| 60,000
H73 SE0=H 100,000 100,000 0
307 gl2tol & 100,000 100,000 0
02 QIZtFAE XS 100,000 100,000 0
OHM7a sE0=H 100,000
EAL &5 2 2H 20,385,412 5,938,787 14,446,625
= 1,062,600
& 12,033,000
< 7,289,812
S3EM2 H2Al2t HAE 712,600 723,000 A 10,400
= 712,600
308 XX EHHSOIA 712,600 723,000 A 10,400
= 712,600
01 HIXNHHBNEES 712,600 723,000 A 10,400
O33N H2AI2Z HEXE 712,600
= 712,600
N2 24 X 522,500 330,000 192,500
= 350,000
< 172,500
403 UtXISHE X201 E 522,500 330,000 192,500
= 350,000
< 172,500
01 X SHHA2E= 522,500 330,000 192,500
OX2EMa =4 X3 475,000
= 350,000
< 125,000
O 2t & A5) 2 XA 47,500
2ENM2 2R 270,000 202,000 68,000
308 XXM SO0l A 270,000 202,000 68,000
01 IXNHHBNEES 270,000 202,000 68,000
Ox2ENa 29 X& 270,000
A2 A &2 29 XA 136,312 129,941 6,371
307 21201 A 136,312 129,941 6,371
02 QIAHFAEXS 136,312 129,941 6,371




2N 230z
M =Y F0=2 FHH 25
el 2HAIL HE U 29 EEREED
SA - BB B () - MM - BES Ol &t o San HmEET
OsddEA2 28 N 133,072
OZOMAEM2 AIESAMI HRIHAHI 3,240
gte2 2 D=2 X 187,000 232,000 A 45,000
201 LB-2d| 4,000 4,000 0
01 At 22l 4,000 4,000 0
Oflsa & Ol=2 dERds 29+ 4,000
307 glz2+ol & 53,000 53,000 0
02 AP AEXS 53,000 53,000 0
OAgetEa & sz 28 N 53,000
308 MtXIEHMSOIH 80,000 100,000 220,000
01 AXSHBLELS 80,000 100,000 220,000
Ofis2 & =2 2 43 N 80,000
403 UtXISHH S =0l & 50,000 75,000 A 25,000
01 XM A2EE 50,000 75,000 A 25,000
Oodsza 2 sz 2B EEAE N 50,000
23 AE ATAIE E X223 (BTL) 1,833,000 2,037,000 A 204,000
= 1,833,000
308 XtXIEHH SOl A 1,833,000 2,037,000 A 204,000
& 1,833,000
01 IXNHHBANEES 1,833,000 2,037,000 A 204,000
OXetEE =32 QXAIY B2XS3 577,000
& 577,000
OFUAER(FH)EAHZ RXANE BEXN=3 208,000
= 208,000
O NS AE=HMEH UNAYE BRI=SS 727,000
& 727,000
OHE=EZatal & QUXAIY BR2RNS2 321,000
= 321,000
HEAMT Al 23AIE 2HE 16,224,000 1,700,000 14,524,000
& 9,700,000
< 6,524,000
401 A& HIZ 201 Y] 16,224,000 1,700,000 14,524,000
& 9,700,000
< 6,524,000
01 A& HI 16,224,000 1,700,000 14,524,000
OZEHZ N UF(HAAMEFT S) 16,224,000
& 9,700,000
< 6,524,000
Sg0l=2 2g XA 500,000 0 500,000
=1 500,000
403 XIS E X201 & 500,000 0 500,000
= 500,000




2N 230z
M =Y F0=2 FHH 25
ool RSAM 25 U 29 (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
01 AXSHMA=2EE 500,000 0 500,000
Ogg ols4)gilsx A2 500,000
= 500,000
MRS (23H0=n) 400,000 500,000 100,000
HEAHHK = 400,000 500,000 100,000
=l slIzd 400,000 500,000 A 100,000
702 )I3HEES 400,000 500,000 A 100,000
01 I3d&E= 400,000 500,000 2100, 000
O2u=dsII=a &= 400,000
HAE2LZH (230l t) 85,660 105,360 A 19,700
Jl23&dl 85,660 105,360 219,700
Zs0=n eI 85,660 105,360 219,700
201 Let2d] 38,000 48,000 A 10,000
01 At 22l 38,000 48,000 A 10,000
O2t=dRF 38,000
202 04l 36,860 46,560 A9,700
01 = LHA YI 36,860 46,560 A9,700
O2=dRF 36,860
203 YR =& 10,800 10,800 0
01 122 =4 6,600 6,600 0
o= 6,600
04 EA2IYRFLH| 4,200 4,200 0
OZstil= 4,200




